HALLOWEEN

WORD PROBLEMS #17

M Solve the following word problems.
LY 4

A witch sees 8 bats while flying around on her broom.
When she arrives home, she sees 3 more bats hanging from
her rooftop. How many bats does the witch see in all?

A group of 5 monsters is having a party in the cemetery.
Each monster has 2 heads. How many heads do the
monsters have in all?

Jimmy eats 3 slices of pumpkin pie. His friend Eddie comes
over and eats 4 slices of pie. How many slices of pie do the
boys eat in all?

Tanya eats 5 pieces of candy from her trick-or-treat bag.
Stacy eats half a dozen candies from her own bag. Which
girl eats less candy?

Gwen leaves for a Halloween party at 4:00 p.m. and arrives
back home at 8:00 p.m. How long was Gwen at the party?

© ThuVienTiengAnh.Com



